7 | 6 | 5 4 | 3 B /
TRUSTED GLOBALLY
¢ Lieferzustand
goss |f delivery condifion
LSESS
S e 59
=S8=27
x N[ oT o]
et | |
oS T &N
SESas oS
E‘§ § S - N‘ -\ JS-
£ooss L ©
:E% ; Z ' -~ .O_Il Pl ﬂ Q‘I'I_I @
LS.
PELs|f I —
gsge” 95
S Y . .
gLs2® General Characterisfics Standard Value 6.7
;%%;ﬁ size 3 modules n — =
;E QU S S -
Sssso both connectors floating =
+5mm i
one con fix, afher con floafin N
folerance compensation ’ J N & il
+ 2 5mm o BL_m= =
s
0 both connecfors fixed u—
+ 0mm '
= = =
guiding range one con fix, afher con floafing
(suitable design of up fo *75mm 3} ﬂ' ﬂ'
customers' devices o both connecfors fixed iV
allow movement required| up fo +10mm —
panel cut ouf see page 7
P68 | IP6OK Schrauben, Scheiben und Dichfung lose beigelegt
; DFOT@[T\OD class IEC 605729 bolts, washers and sealing attached loose
(in mated condition)
Climatical Characteristics |Standard Value
climatic cafegory IEC 60068-1 LO /125 1 20
o upper femperafure IEC 60512-11-9 | +125°C
lower femperature IEC 60512-11-10 |-40°C
Mechanical Characteristics |Standard Value
- mechanical operafion IEC 60512-9-1  [>500 mating cycles
s s |4 :
. Materials Sfandard Value Hinwelse zum Linbau siehe Seife 7
SoEE module frame PA-GF information for assembly see page 7
S5ts flammability UL 94 V-0
Zos-8 Gewicht lerrechnef) [ (alc W7 :73,9 kg Lul. Abw.[ Talerances : Mabstab | Scale : 1:2 A3 =&
RES -l . floating washers steel Ni-plated C Priifmal | Jestdinension R —
SoEgs Telleindex | Partindexnumber: -m o /150 ©
N M5 bolts steel Zn-plated e 1. CUSTOMER DBRAWING <
SEse s sealing NBR Gez. |10.12.2020 2
SoNES Orawn|PWOELFFLE :
SSexs Alle technischen Daten wurden unfer Laborbedingungen ermiffelt und konnen im Praxisbefrieb abweichen. Es handelt sich ber den eﬂergwmm—e 3 MOdU[e S
TES S K Status|Released =)
;sé% o Angaben weder um Beschaffenheifs- noch um Haltbarkeifsgarantien Beim Gebrauch von Fremdkontakfen wird fir abweichende G 6122020 o~
=25 .9 Figenschaften keime Haftung (bernommen epr. 2. energy/mafe 3 modules a
S5 5 All technical data have been measured in a laboratory environment and can be different during practical usage of the product Checked] MBER TSCH
322 gs Any product information i1s for descriptive usage only and not legally binding; particulary the information does not constitute or Blaft/ Sheef | —
%Eééé provide any legal guarantees ("Beschaffenheitsgarantie” or "Haltbarkeifsgarantie”) By using contacts from other manufacturers Amphen_OI Tuchel I\/I [1@6 N13 OOZ 68 1 S
§§§§& the lLability of the part is nof assumed 01 1702000177 522000 PWOLT Industrial GmbH o Bl o
8553 g / b 5 Index_| Anderunal Jescrpfion | Datun! Jafe | Name Ers. f. | Replacement for - M-SK 202000172 311 =
Dow!

o
=2
o

o
o

aded from Arrow.com.


http://www.arrow.com

7 | 6 | 5 | 4 | 3 | B /
@ AMPHENOL |
TRLLIST E GUGLUAL BX Hinwelse zum tinbau | information for assembly
ch‘\‘gE F
E%?f: Monfageausschnitt feste Lagerung / Gesteckter Zustand /
g‘;g;% panel cuf-out fixed assembly mated condifion -
§§§s§ / @
253 % S
E§§§§ L0OS5 - 47
%%?gég [ \$\ Abstand der Steckpartner
Sifse _ =t B J im gesteckten Zustand;
S PED I o= — + — Endanschlag bei 40,5mm
SS58E ‘ — -- distance befween the sheefs
SosE - in mated condition;
end srop at 405mm
458
9 6L
= 05 +0,1
"
=
=
1 = Mgwrwul] = min. 2
‘ L E T
LB e B Blechstarke
_ sheef meral thickness
c Anziehdrehmoment M5 bolf ZNm;
cinschraubfiefe min 4,5mm
fightening torqgue M5 bolt ZNm;
screw-in depth min. 4,5mm
g § g - /ugentlastung erforderlich um Kraffe durch die Verkabelung
fxck auf den Steckverbinder zu verhindern
figg - zulassige Materialien fur Monfageblech:
Sigg - Stahl (@55 + Stahl-Mutter |/ M5) —
%%ggg_ - Al-Legierungen ausgehartet [ @55 + Stahl-Mutter) G:ew‘m:(e”sr(gz%//[’J;;S%;i; kg |7l A Tlerances ); Masta | Scafe - 1:2 A | =1@ | |
ét@éég - Monfageblech tbenhelf: [ — 0. ;jxge;nfi/e/i/(hfg;;i/7aexnumber.- IS0 2768-mH o /50 CUSTOMER DRAWING -
é%%%% - sfrain-relief npecessary fo avoid cable forces fo the connecror gféwn ;Ow%gfggﬁ =
e - approved materials for sheet metal: Status|Feleascd energylmafe 3 Module =
igéfg / - steel (@ 55 + steel hex nut / M5) Gepr. 116.12.2020 energylmate 3 modules =
sSS82 - aluminium-alloys hardened (@ 55 + steel hex nut) [:iCkEd :BERTSI[_HI_ hol —
22888 - sheel metal flatness: mphenoi fuche ) B
SESES £/ |0 01 200000177 [ puar| Industrial GmbH M|L1k6 NI3 002 08 2 6>
£23:5% 4 | / | 4 | 5 Index | Anderungl Jescription | Dalun! Dafe | Name frs. f. | Replacement for - M=-SK 202000172 371 =
Dow!

o
=
9]

o
o

aded from Arrow.com.


http://www.arrow.com

